


  ASSIGNMENT – 8
STD VI                                 DECIMALS


1. Decimal number of  
a) 1.0008		b)  0.0008		c)  1.08		d) 1.0018
2. Decimal part of   287.45 will be 
a)  .4			b)  .5			c)  .45			d)  287
3. Short Form of    +  0  +    = 
a) 0.068		b)   608		c)  6.08		d)  0.608
4. Which decimal is greater than   
a) 0.5            	b)  0.85         	c)  0.73 		d)  0.75
5.  54. ▭3  +  543  +  5.43  =  603.26    So  ▭ =  ?
a) 5 		          b)  6			c)  8 			d)  None of these
6. 32.549  >  32.458 because
a) Tenth part is greater		         b)  Hundredth part is greater
c)    Thousandth part is greater		d)  Whole part is equal
7. Multiply the sum of  0.91  and 12.1 with their difference.

8. Subtract :           a)  Rs 108.97  from  Rs 297 	          
                                     b) 1.578  from  10.09
9.  Add :  	      a)   0.091  +  3.7  +  0.05		
                     b) 35 + 97.4 + 11.006 

10. Mary and Ritu decided to share the expenses equally. Mary  paid  Rs 56.90  for snacks 
and  Rs 83.25 for grocery items. Ritu paid Rs 41.95 for petrol and Rs 37.47 for entertainment. How much does Ritu owe Mary ?                  



